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2023
POLITICAL SCIENCE

( Honours Core )

Paper : POL-HC-4026
( Public Policy and Administration in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
oo AR FTeTER e fior

(a) Which State of India first adopted the
Right to Service Act?

SRS (I IR YIS G/ SRFR Hizw
o1z FRfRE 2

(b) Mention one characteristic of public
policy.

NS b1 AT Seae T
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(2)

(¢ In which year was the PESA Act
enacted?

PESA Wi (I 519 229 1 02fRe 2

(d) In which State of India was Lokayukta
first established?
ST W IER U4 CIREE Tl
FRfee 2

(e) Write one remedial measure for
combating corruption in India.

TS YIS 2ASCINE I BT Berrw ey o

() Who elects the President of Gaon
Panchayat? .
a8 “i%Res TSP (I Ao 33 2

(g9 What is single budget?
GFF ews 2
(h) “Illiteracy is a hindrance towards

people’s participation in adminis-
tration.”

( Write True or False )

‘Mol sprre s PTRR AT G
A’

(== @ o5 ol )
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i)

G)

(3)

Write the full form of RTE.

RTET = foiehl for |

Mention one employment scheme
adopted in independent India.

FRT SRS =M T 99w fma SR
el

2. Answer the following in very short : 2x5=10
were AT i oy Teq frr

(@

()

(c)

(@)

A23/874

What is incremental model of public
policy?
e e onf¥ [ 2

Write the name of two local governance
institutions of India.

SRS 51 FIA X[PH SBIe AN o |

What is food security?
I fRarorer 2

Write two principles of social welfare
administration.

A el 2P 101 RS forar |
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(e)

(4)

Write two limitations of decentralization.

ReeRIFIR 701 el e |

*

3. Write short notes on the following (any four :

5x4=20

TS AR oS 5 Bt ot (R vteent wifey)

(@)

(b)

()

(d)

(e)

A23/874

Problems of public policy evaluation
TIPS eI S0

Forms of decentralization

ReFTieeo) =t 1 o=

Citizen’s Charter

CIRISE AT

Principles of budget
MGNREGA

qq. & @71, 5. 3, & @
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(S)

() Evolution of local self-governance in
ancient India

A SRS T FEASIFT R

4. Answer the following questions : 10x4=40
To 2P e i

(@) Discuss the public policy process in
India.

SRR (EFRPAINS ARFACH S 41 |
Or / 73

Discuss the various stages of policy
formulation in India.

sRee e AR RRST AR e
11

(b) How is the Parliament of India related to
budgetary process? Discuss.

AR AR T SR wom v
TS 9 ™A F41 |
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(6)

Or/ &1

Discuss the role of the Estimates
Committee and Public Accounts
Committee in budget process of India.

TSy S AR TENFT T IO AE
sl fRprer SRR PR Seasn 741 |

(c) Analyze the problems of public service
delivery in India.
SRed HERl ORIl @O PR Remd
ESIN

Or / 7%

Explain some public grievance redressal
measures of India.

TROY (LB I SIS e I
A ¥4

(d) Analyze the problems of local self-
governance in India. Suggest some
remedial measures to overcome those
problems. 8+2=10

SRS FAN TSP IR Rowsd 41
@3 TIER ST @ A A
SRR |
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(7)

Or / A3

What is e-governance? Discuss its
role and significance in public

administration. 2+8=10
P 82 CT-2pPRTe 210 SR e
IR S 47 |

* % %
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